Run 5052 triggerwise, sums: All
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Endries: 249766

Maan: SE17.2472 4 25T

Sbd Dww: 112532.3220 4+ 155251

0

20000 30000 40000 50000 60000

70000 BOODO
sum

Run 5052 triggerwise, sums: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Enitries: 0

Mean: 00000 +- 0,000

Sbd Dev: (L0000 4+~ 00000

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000
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Run 5052 triggerwise, sums: Beam OFF

Endries: 14513

Mzan: $302.1585 4 73839

Sid Dwrw: BBE5.8323 4 52.DEZT
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Run 5052 triggerwise, sums: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Eniries: 23414

Mhzan: 8029.4553 4 30747

Sed Dew: 1147264009 4/ 281057
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